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SERE| 2177 0 163 2,340 M| 650 234 | R 884 m 3,224 1
1EIE 868 0 55 923 M| 650 234 | FH 884 | 1,807 @
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WAEA| 9603 0 163 2766 M| 650 234 | =E 884 m 3,650
BISE 007 0 55 1062 M| 650 2034 | =] 884 m 1,946 F
AEES| 2WRE ) 4013 0 109 2122 | 650 234 | FE 884 3,006
SEIRE| 3019 0 163 3,182 M| 650 234 A 884 m 4,066 F
1R 1,171 0 55 1226 M| 650 234 RH 884 m 2110 [
N MAR| a4 0 109 2451 M| 650 234 | E® 884 3,335
EREB| 353 0 163 3676 M| 650 234 | =] 884 4,560
BIRE| 33 0 55 1389 M| 650 2034 | =] 884 2,273 [
NEES| 2MAB| 407 0 109 2776 M| 650 234 | E® 884 3,660 I
SERE| 4000 0 163 4,163 M| 650 234 | FH 884 5,047 [
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